l 12—\

\/QCJ'\’U\’T(’. = - Fixed Por nt W“\’L‘L,OA_S

* AMA [ euit] Prager

£ Non- lhwear Ec;)mh'owS

X ‘\béa«j wWe  Mave o Lown  linean Systems to  nen-livcar

Q%S%MS. what 5 o non- Liviear efbm‘f"é"'\? A‘wj al?cbmic
ecbda{/{ou hat tsul lwmear. (€~5- non - Moy mon s any
one MO gn) WMovmon —  Yhere oune ey Linds )

¥ Thewe 15 a formal Lfinihion of o \Wear ¢yglemn T
w il leaw Hor Ué\u math classes , but Jypreally
o won-\nnear equation Weas  eider poly nomial

Yevms (5. X X7)  andfov transcondendal ferms (e.5. " sinx)

¥ Non- Wivear equakiont oune Wowdery Yo soluve MMan  linear

€Dbua4’1_0h£)bw+ J(th are \/:/e\% Commont  a eﬂs}meev:\v’g-

* TE e nomber of  idepevdent equa fions equals He numbey

of wnlkrownS n o [inear 9‘15*‘3""’) W e 5(,{515’(4!44660:]

A 6\\‘/’:{)\%) Uw Soluthon, We  dond hapne any

such SMVGW\W (n oo non- (1neay éﬁlja‘{’}bw,
* CongiGev dwo  examples

o OV ‘\V\/\F k\(/—\‘t C%(/Q"h:(ﬂ\a ¢ COS(ZUX) - % =0

(oo Py tleon Plo{’>




=<2

- No wmagber how e N -avtavge | uae camt 1solade .

N

vi Tt vk W\amj 5‘0(%“"‘;"“3 (‘L Coont (%7.

s A mial K - =0
iy o i

(gee Py fnon Plvo'{’}

- We can Solwe ioj hopnd Usving A %Uadvoch"c

Cov manlan Xz =Lt \l LYo
Zen

\\V\ “h’l(r) CaSe . ?C e t \] «P

T wWe can hawt 0, {,er 2 soluhons.

¥ Ouv ?@V\Lﬁl' pobUm  (osleg like  dnaic -

f( =0

SN

| efbtiq,{’\:d“- { \)V\WV)V\

- Mt i lled tre clandavd form o bt residual Form .

" L

— Tho 50\\&“1‘0)\ oV SO&W\I\—\:OY\S ) X*‘) ant CC‘“&J ‘t\/\ﬂ,

Vﬁ"‘f ot tne Lumcdion.

IAC"F‘VHU‘ wrle e e'bufvl’lbn v standar & Cov m °

5
g0 0= A - whert Pt dopendont varigble
T s e ndeptadint voala
and A i b, C owre “POW 6 el S |




% -2

T, Fived Pownl wudwods

* Bcause fept are no gencial ways o solve o nonWwnea
€9

eft)dm,‘(’lvb“; w2 cI,OA/l\'¥ Wany G/M/(j C_lnf!',&{' waehnod s . T s Yead
W on\/\j have evatwt  aectio ds .
03’) e can
x e west Common class o aedods  are 0% cowrse Co de
e Puad vatic

culled  Gved —powmt  metuo ds.

‘QO‘I'VDLM(C\ ad

- 0fler ‘cwewyl
oW weunke ) =0 as Y= 3(20 Dlwed  prolplems

thhen e Guess 7QL°) and use D 4o Sind w2
(. =)
x gCx"")

Z((ﬂ . 3( X(l) )

(89 ; ( X(é))

uhen )CC&A) - X“’) Y we Wgwe

x*: 3(>‘*> = —?(X*):D
N i)

v L " (o a vool.
‘\{L;¥e(§ FO\WU‘ \D«CC&wSe
Yow ca-a(" becle )C*.

* Yo do we Set 3(\07. We'll see h a mmnute,

iE)LQ,VV\PLL \ Pseudo —code €ov o & yed -pont method .




13-4

X = X_gquess
J ¥ looks fu saun as the

_ -9
*’-()\ - (o H-C.vq‘h"‘e netnod “n
& = 0O e lontav case )
res = g(X)

¥ Rgatn | v cawn
wile  ((ves > ()

(D (onuveme
X = g0 (@) " stall ot 7 (sawd &S conveipe
=t 5 plieie nduis cage /)
Yes = S0

* Metods Loy gethiyg 90X

A, Picmﬂéls medivo @ -

X ln Ticavds metwod e add an X Yo ek sides
of {le 9¥ahd}wd fgﬁvvv\‘.

§v) =0
xt SO =X

(N

5()()
u(&m O H}((ui\

x Picav d's awedmnod easy, louwt + doesnt always

Convey 5C wa{Ck(Aj (ov S‘OW\QHW§ d"‘ q(l !)

B Newdon's  awtrod

¥ (n Nedton's audnod, we  Wawe

£
900 = x - =L 3
-g)h(B “ Ax




\2-6

; (%) Se¢ supplemental
59, notes fov  donvathon

; v .
?C(ld) - (X(U) of Newton's Mettad |

f}(x(’%3 |
$(x?)

: 2
D O

v\Ll\IgUJ%V\'S Mu{fwod U onmch %Wﬁ/\am P\‘Cavc(s'. Wwe will ﬁﬂlk
movt  ayort AWis adey.

&%mmpkeg Sowe = using Nedton's aeduod.

T =y U " «@71% - 4
75 L) _[“__

L
\ L q (x%)
V\QSS:’/—\ 2
9 ' 0 | jm Wt m g2 = B
20 2 z
5 =
l 2 T e Y
2(512)
2 2+03 9(2.0%) = 2.000,09F56 |
2 2.000b 3(7‘00063 = 2.0000 !’.{ﬂ'.:,’c\\;j!‘gs\‘
W Sole 6% s UGRV‘O New fon's nednod,

St w| o 3(&255 of xc°):[




Lecture (%~ ﬁlpple mindal  Nokes

Devivahion ©f Newtom's nudned:
-((75) —o 18 ouy g«&uq{q:m\, (n SMMC{‘LVL( Eovun .

Frst, expand O in o Taylor Sewes abor point y (e

30 = ‘Y’(ﬁ(&)) n -s‘,(ﬁ(‘—)) (X’ x(ﬁ)) " LZ _‘\u (xlé))(x__xu,))z*”.

1
Wox (s de vook  gmd 'X(Jc) s clow ‘o tre fOO‘\’) ey ©

fp=0
)
X - X(k ‘ls swyll = (x—q{(&’)> > (’)C- X&))?

= we cawn V\La\to’\’ all of t1e
\/\\'c]\w( - ovder fevms .

() ] D
02§69 + 2 (5 (x«®)

5
solw for X
;\(de}(x- 7((U> _ ¥(7C(m>
(&>
o W S
A $1 ()

make Yhis oy paxo Gwess

: o
¥ 3 FOx )
Y(L ) B K(

R —

(% . ) \\\




